Goals

e Prove facts 3 and 4

Questions

e |f we know that diagonalization and simulation fails, does that mean
the only way to prove if P = NP is to invent a new proof technique?

Announcements

e Pet photos

e Seniors: Fill out 701 form

v, O
M J 0 F - I ;\
%\f V (7) P c NY b/ PSP \ASM3
aimlationt.

6 O .
N wed o Bad aw O sk WY cp 1=

v
Lo LF =5 ¢aon A7) M (x) oipo iLj -
N 9\\/\ 5*’€,§D§

\’*

1/%’

Ne will pove  N¥ Qé EP avs  EXP é@
)
Qo ppe?

\/711\/&1 TC) &QCEA@ \’\Q !
U=, Ky e W SEPS

X & LJ{: Coan VU

& o
M/\)v{:\%?@ Let L e Y Thew )(\Afwg— Lt a
ok e T Mool b xe L

?0\3 P | o
3w M [x,a)=1. Lexr M be tne I ML’Z B
M g b rera (\/\/\\r‘O\)C:B\/\ eve ?09%3\0@ Zn . x W
4
o ok I Wil AT exeeh, R U(=0)
W) L ALUAS™ /VL& poerte> By ME s noread of- LY
1) 4o Letooming  Aag Tesult @K(W - =y
QT pEe Ot W causes an G(eepb, = 47(&,“1 Yo
, \ x
/\/\\ mcce\(v\%. M uvs Q?QPOM/\AY%\\ L %
Rme S0 L eBRP. .
L lj‘
2xPE? D b LeBAP Jlun Aave 15 a4 TM N
o [x\
M. et decdes Loia 7 I b
6\{?"7 ON W\?%J\‘ Ao e o 6/‘\\\’ O(\S d/ \/ﬂr

LQ/'SV MJ pe e \MaL\V\MJL )ﬂ/m\/ O\H\
OW M@m‘v X | 90 ES <‘><; X 1 »
o 17 oud ®UC%\/L§ Y veeuld

Mlj‘r’ Uns N ?b\xgvm(/maut Jﬂ/\AQ)

£
o LeP | N
) g Jiecr OV Zabon
¥ = NP =y (an wor W& )
Yesu \° \) . e
V) O
A 3 0¥ FNT
(/Vem%e N AT A D 1=
v Taumecare A emenlae TMS B :
C? : ’ N o
Mi / M;/ [ /ME ? \/@S
¢ Sacra ot =L (av@ VQ?@GW&% T
il mi@ R > ?\CY/ 7 ©o | MDD e
wuwwoe o Vg (\M\\\ %é\f\ Wow 0 ?Oa ) o
\0\%(> pld TUN Mé - MP‘M 1" -
c ¢t
?C\L V¢ Yo be Al gv\m\\ﬁgﬂy AOMbD e & J
\ a( \L ) A&V\i
0 \/\ *
| - Dee
« 10 6%@“VL§ 09 \QV\fSTV\ ¢ WS n o 1
0\96’\(3% N 1

15 m\\VG‘O\é Mgv\)@ c No ~
1K &5 | 6 .

wod Pe \A?ém& \\S
0@6’\% |

(/o\/\%ﬁxf/\/\j(

M %tﬂ,\/\b> gggg\[\ﬂ( %G(\/\/U\\/\ 0\¥€ I\/\ (\/1(5( g%f?é/
0 \gi | \ 4/ )ﬂ/\@\/\ 56% 0{\\ gﬁqﬂﬂﬂg ﬁ
noo e OWVQW@ ) |
5L JYle M At Waweu a\méé \neo &%\3”@&
) L | N STe DS
Tp MP(aY) gt O in LW ETE
( - o b
Yusu, aesian  OMe I ol loug /¢ 3

N \/@ b\f

aﬂz A% §ﬂﬂ%%g

e | i
Yo (\Ag\k S%PS L gl |

M‘&%ﬂj\is (W\\cg



